
1-10 90 80 70 60 50 40 30 20 10 0

Ej) 14 × 7 = (7 × 7) + ( 7 × 7 )
=

9849 + 49

1) 5 × 12 = (5 × 8) + ( 5 × 4 )
=

6040 + 20

2) 12 × 4 = (4 × 4) + ( 8 × 4 )
=

4816 + 32

3) 16 × 9 = (8 × 9) + ( 8 × 9 )
=

14472 + 72

4) 14 × 5 = (5 × 5) + ( 9 × 5 )
=

7025 + 45

5) 5 × 17 = (5 × 9) + ( 5 × 8 )
=

8545 + 40

6) 12 × 3 = (8 × 3) + ( 4 × 3 )
=

3624 + 12

7) 8 × 13 = (8 × 3) + ( 8 × 10 )
=

10424 + 80

8) 12 × 8 = (2 × 8) + ( 10 × 8 )
=

9616 + 80

9) 16 × 7 = (7 × 7) + ( 9 × 7 )
=

11249 + 63

10) 12 × 5 = (7 × 5) + ( 5 × 5 )
=

6035 + 25

Ej. 98

1. 60

2. 48

3. 144

4. 70

5. 85

6. 36

7. 104

8. 96

9. 112

10. 60

     

Usar la propiedad distributiva para resolver cada problema.
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